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Instructions

L. All questions are of objective type having four answer options for each, Only one option is
correct. Correct answer will carry full marks 1. [n case of incorrect answer or any
combination of more than one answer, ' mark will be deducted.

r2

Questions must be answered on OMR sheet by darkening the appropriate bubble marked
A, B,C,orD,

3. Use only Black/Blue ball point pen to mark the answer by complete filling up of the
respective bubbles.

4. Mark the answers only in the space provided. Do not make any stray mark on the OMR,

Write your roll number carefully in the specified locations of the OMR. Also fill
apprepriate bubbles,

L]

6. Write your name (in block letter), name of the examination centre and put your full
signature in appropriate boxes in the OMR.

7. The OMR is liable to become invalid if there is any mistake in filling the correct bubbles
for roll number or if there is any discrepancy in the name/ signature of the candidate, name
of the examination centre. The OMR may also become invalid due to folding or putting
stray marks on it or any damage to it. The consequence of such invalidation due to
incorrect marking or careless handling by the candidate will be sole responsibility of
candidate.

8. Candidates are not allowed to carry any written or printed material, calculator, docu-pen,
log table, wristwatch, any communication device like mobile phones ete. inside the
examination hall. Any candidate found with such items will be reported against & his/her
candidature will be summarily cancelled.

9. Rough work must be done on the question paper itself. Additional blank pages are given in
the question paper for rough work.

10. Hand over the OMR to the invigilator before leaving the Examination Hall.
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1) In a batch of 15 students, 5 students
failedin a testwhere the passmarkwas
35. Themarks of 10 studentswhopassed
werego, 60,70, 80, 80,90, 60, 50,40, 70,
Find the median ofthe marks ofall the 15
students.
ay 70
b} 60
c) 80
d) 50

2) The percentage of 3:4 is:
ay 75%
b) 50%
¢y 25%
d)y 00%

3)Find themean ofx+ 77, x+ 7, x+35,x+3

and x -2

a) x+8

b} x+18

c) x-8

d) x-18
Y1f65¢c =25¢

r 2r+i

a) 7

by 8

c}y 14

dy 16

ofipd the value

§) Ifamatrix Aisbothsymmetricand skew
symmetric then matrix Ais:

a) Ascalarmatrix

b) A diagonalmatrix

C) AzeromatrixofordernXn
d) A rectangularmatrix
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6) By solving the equation 3:5x=9:5, x £,
the value of x willbe
a)
b) 1/3
c) %
dy 1

aor
Ifa= [ gl LmdA:A’then
a)x=0,y=5
b)x=y
C) x+y=5
d) x-y=5

7)

8) What is the probability that a number
selected from the numbers (1, 2,
Byreeenen ,15) is a multiple of 4?

ajl/5
b)4/5
c)2/15
d)1/3

9)Square of {.015)
a) 0.225

b) 2.25
¢) 0.00225
d) 0.000225

10) In a particular constituency 75% of the
voter cast their votes, out of which 2%
were rejected. The wining candidate
received 75% of valid votes and bagged a
total of 9261 votes, What was the total
number of the voters in the constituency?

a) 16,800
b} 16,464
c) 12,348
d) 12,000
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11)The median of set of 9 distinct
observationsis20.5.Ifeach ofthelargest
4observationsofthesetisincreasedbyz2,
then the median of the new set
a) Isincreased by2
b) s decreased by2
c) Istwotimesoftheoriginalnumber
d) Remainsthesameasthatoftheoriginal set

12) The middle value of an ordered array of
numbers is the

a) Mode

b) Mean

¢) Median

d) Mid-point

13) Individual respondents, focus groups, and
panels of respondents are categorised as:

a) Primary DataSources
b) Secondary DataSources
€) [temized DataSources
d) Pointed DataSources

14) The abscissa ofthe pointofintersectionof the
less than type and of the more than type
cumulativefrequencyofagrouped datagives
its
a) Mean
b) Median
c) Mode
d) Al ofthese

15) Two natural numbers whose sum is 85
and the least common multiple is 102 are:

a) 30and5>
b) 17and68
c) 35and55
d) 5land34
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16) Find the value of x, ifthe mode ofthe
following data is 25.
15, 20, 25, 18, 14, 15, 25, 15, 18, 16, 20, 25,
20,x, 18
a)l8
b) 25
c) 20
d) 15

17) Which of the following is a measure of
central tendency?
a) Percentile
b) Quartile
c) Standard Deviation
d) Mode

18) A shuttlecock used for playing badminton
has the shape of the combination of

a) Acylinderand asphere

b) Asphereandacone

c) Acylinderand ahemisphere

d) Frustumofaconeandahemisphere

19) What is the greatest possible speed at
which aman can walk 52 kin and 91 km
in an exact number of minutes?

a) 17 m/min
b) 7 m/min

c) 13 m/min
d) 26 m/min

20) Which of the following divides a group of
data into four subgroups?

a) Median

b) Quartiles

¢) Standard Deviation
d) Percentiles
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21) The median of setof g distinct observationsis
20.5.Ifeach ofthelargest 4 observations of
thesetisincreased by 2, then the median of
the new set:

a) [sincreasedby2

b) Isdecreased byZ

c) Istwotimesofthecriginalnumber

d) Remainsthesameasthatoftheoriginalset

22) The factors of 6xy - 4y + 6 - Gx are:
a) (3x+2)(2y+3)
b) (3x - 2) {2y - 3)
c) (3x-2)(2y+3)
dy (3x-+2) (2y - 3)

23) 18% of 10=?
a) 0.18
b) 1.8
c) 0.018
d) None

24) What number must be added to each of
thefournumbers10,18,22,38 tomake
them in proportion?

a) 8
b) 7
c) 2
dy 1

25) Pictorialrepresentationofdatausing
symbolsisknownas:
a) Bargraph
b) Pictograph
c) Piechart
d) None ofthese
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26) Three coins aretossed simultaneously.
The probability of getting all headsis

a1

b)1/2
c) 1/4
d)1/8

27) What is the third proportional to: ab,
ab??
a) a2
b) an3
<) alp?
d) adp

28) The H.C.F of twonumbersis 32 and their
L.C.M.is320.Ifone of thenumbersis 64,
then the otheris
a) 96
b) 128
c) 160
d) 192

29)If4x’ — 22 =x° + 5, find the value of x.

aj-3-3
b)3,-3
c) 3
dy-3

30) In a right-angled triangle, the base of the
triangleis 12 cm and the heightis5em.
Calculate the hypotenuse.

a) 12
b) 13
c) 14
d) 15
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31) Twodistinctpointsinaplane determine:

a) Anuniqueline

by Twolines

¢} Aninfinitenumberoflines
d) No possibleline

32) Probability of an event licshbetween
a) -ltol
b) Otol
c) -ltol
d)-0.1to 0.1

33) The data which have already been
collected by someonc are called
a) Rawdata
b) Arraydata
c) Secondarydata
d) Fictitious data

34) A constant variable can take values

a) Zero

b) TFixed

¢) Notfixed
d) Nothing

35) Error = _
a) Truevalue-observedvalue
b) Observedvalue-averagevalue
¢) Averagevalue-observedvalue
d) Observedvalue-truevalue
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36) By solving the equation 2x — (3x - 4) =3x -
5, the value of x will he
a)9/4
b)1/2
cy7/3
d)1/3

37) Five different books (A, B, C, Dand E) are
tobearranged onashelf. BooksCand D
are to be arranged first and second
starting fromthe right of the shelf. The
number of different orders in which
books A, Band E maybe arranged is

38) Can 0.9 be a probability of an outcome in
a sample space?
a) Yes
b) No
¢) Cannot bedetermined
d) None of theabove

39) The number of times a particular observation
(score) occursinadatais calledits:

a) Class interval
b) Range

c) Class Limit

d) Frequency

40) [£20-30istheclass interval of grouped data, then
lower class limitis:
a) 50
b) 30
c) 20
d)10
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41) Thedifference between the upper class limit and
lower class limit of & class interval is called:
a) Frequency
b) Width
c) Groupeddata
d) Ungrouped data

42) Review of performance appraisal, labour
turnover rates, planning of incentives, and
training programs and are examples of :

a) Statistics inProduction
b) Statistics inMarketing
) Statistics inFinance
) StatisticsinPersonnelManagement

[o TN »)

43) Rozly can row downstream 20km in 2
hours, and the upstream g4km in 2 hours.
What will bethe speed of rowing in still
water?

a) 6km/hr
by 4km/hr
c) 3km/hr
d) 7km/hr

44) The probability that a prime number
selected at random from the numbers

(1,2,3,....... 35)is :
a) 12/35

by 11/35

c) 13/35

d) None of these

43) 6P4 + 7Py + 19C, + 5Cy=?
a) 447
by 497
c) 431
dy 452
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46) How many lines can pass through a given
points?
a)t
by 1
c)2
d} Infinite

47) Apharmacistneedsto strengthen a 15%
aleoholto oneof32%alcohol. Howmuch
purealcohol should be added to 400:ml
of the 15% solution?

a) 90
b) 100
¢) 200
d)125

48) If matrices A and B are inverse of each
other then :

a) AB=BA
b) AB=BA=I
¢)AB=BA=0
d)AB =0, BA =I

49} If side of a cube is t then its volume is

a)4t
b) t*
¢) !
d) 6t

50) Find out the odd one fromthe following :

a) Mode

b) Standard deviation
¢) Median

d) Mean
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51) IfthesumofthreenumbersinanA.P.isg
and their product is 24, then numbers are

a) 2,46
b) 1,53
c) 2,84
d) 2,34

52) Ifthe first term of an AP seriesis 2 and
commeon difference is 4, then the sum of
its first 40 numbersis

a) 3200
b) 1600
c) 2000
d) 2800

53)Given P(A) = 0.4, P(B) =0.7and P(B/A) =
0.6. Find P(AW B)
a) 0.50
b) 0.68
¢} 086
d) 0.05

54) Which ofthefollowingisnotbased onall
the observations?
a) Arithmetic mean

) Geometric mean

) Weighted mean

) Mede

=)

55) Which of the following cannot be determined
graphically?
a) Mean

) Median

) Mode

) None ofthese

o 0O

56) Acylinder and a coneareofsamebase
radiusand of sameheight, The ratio of
thevolumeofthecylindertothatofthe
cone is
a)Z:1
b)3:1
c)2:3
d)3:2

57) If two events are independent, then

a) They mustbe mutuallyexclusive

b) The sum of their probabilities mustbe equal
tol

c) {a)and (b)botharecorrect

d) None oftheabove iscorrect

58) Construction of cumulative frequency tableis
useful in determining-

a) Mean

b) Median

c) Mode

d) None of the above

59) Thelengthsofthediagonalsofarhombusare
16 cm and 12¢m. Then, the length of the side

of the rhombus is
a) 9cm

b) Bem

c) 20cm

d) 10cm

60)Ifa, b, c arein A.P.,then : (a + 2b—c) (2b
+c—a)(c+a—Db)equals:
a) abe/2
b) abc
c) Zabc
d) 4abc
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61) Class markis of class
limits/boundaries
a) Lowervalue

) Middle value

) Uppervalue

) Anyvalue

o 0 O

62) Every real number is
a) Rational numberonly
b) Irrational numberonly
c) Eitherrationalorirrationalnumber
d) None of theabove

63) A fair diceisrolled. Probability of getting
anumberxsuch that1<x<6,is
a)0
by »1
c) Between ( andl
d)1

64) A line through point of contact and
passing through centre of circle is known
as
a) Tangent
b) Chord
¢) Normal
d) Segment

65} The missingtermoftheseries1,4,9,
16,..., 36 is
a) 20
b} 30
cy 25
d) 18
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66) Intriangle PQR,ifPQ =6 cm, PR=8cm,

QS=3cm,and PSisthebisectorofangle
QPR, what is the length of SR?

a)2

b)4

c)B

)8

67) Given 5 flags of different colours, how

many different signals canbe generated if
eachsignalrequiresthe useofzflags,one
below the other?

a)25

b) 20

c)10

d)5

68)IfA=2n+13,B=n + 7, wherenisa

natural number then HCF of A and Bis:

a)2
b)1
c)3
dy 4

69) Giventhat,theevents AandBaresuchthat

P(A)=1/2,P(AUB)=3/5,and P(B) =p.IfA
and B aremutually exclusivethenthe value of
pis:

a) 2/3

b)y1/10

¢)3/10

d) None of the above

70) What are the total outcomes when we

throw three coins?
a4
b) &
c)8
dy7
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71) An experiment whose outcomes has to be
among a set of events that are completely
known but whose exact outcomes is
unknown is a
a) Sample space
b) Elementaryevent
c) Randomexperiment
d) Noneofthese

72) Whatwillbethe solution ofthese
equations ax+by=a-h, bx-ay=a+h
a) x=1,y=2
b) x=2,y=-1
c) x=-2,y=-2
d) x=1,y=-1

73) The derivative of x® w.r.t. x3is
a) exb

b) 3x2

c) 233

d) 2

74) Calculate the mean of all possible factors
of 10
a) 5
by 6
c) 4.5
d) 55

75) Afunction /is said to be continuousforx
R, if
a) ltiscontinuousatx=0
b) Differentiablcatx =0
¢) Continuousattwopoints
d) Differentiable forxeR

76) The AM of 1, 3, 5, .-...- , 29 1s
a) 1
b)13
c)15
d)17

77) Whatshouldbeadded to 18962 to make
it exactly divisible by 13?
a)1
b

)

)3
) 4
)5

O

78) If a matrix has 6 elements, then number
of possible orders of the matrixcan be

O oW

)2
)4
)3
)

d)6

79) If the arithmeticmean ofx,x + 3,x+ 6,Xx+ 9
andx +12is10,thenx="?

a1
b

o 0

)2
)6
)4

80) Find the number which has the same
ratio to 20 asthat of 3:5
ay15
b) 12
c) 18
dj 21
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81) Mean of100itemsis 49. It wasdiscovered
thatthree itemswhich should havebeen
60,70, 8o werewronglyreadas 40,20,50
respectively. The correct meanis

a) 48
b) 49
c)y 50
d) 66

82) The mean of3onumbersis18. Whatwill
hethenew mean, ifeach observationis
increased by 2?7
a) 18
by 20
c) 36
d) 15

83) For the incquality 3(3x+2)-12< 11x- 2,
find the range of values for x
ay xz1
by x=2-1
c) xzZ
d) x=2-2

84) In Statistics, “Population”means
a) Humanbeing
b) Anylivingthingotherthanhuman
C} Any nen-livingthing
d) Alloftheabove

85) Find theareaofatrapeziumwhenthe
height of the trapezium is 6 cm and
parallelsides arezecmandi1oemlong,

a) 12 cm?
b) 5cm?

c) 36cm?
d) 72em?

86) Letxandybetwovariableand x>0, xy=
1, then the minimum value of (x + y) is

a)1
b)2
c) 2%
dy 4

87) The volume of a cylinderis 87.92m3. If
theradiusofthecylinderis2m, find the
height of the cylinder, given ;t = 3.14.

a)3.5m
b}7m
c)z2lm
d) 1.75m

88) In how many points can two distinet
lines at themost intersect?

a0
b)1
cy2
d)3

89) Five years ago, A was thrice as old as B
andten years later, Ashall betwice as old
as B. What is the present age of A.

a) 20
b) 50
c) 60
d) 40

90) The total number of events of throwing 10
coins simultaneously is

a) 1024
b) 512
¢)100
d) 10

Page:11/12




Diploma in Health Statistics - DHS

91)The largest number which divides70 and
125, leaving remainders 5 and 8
respectively, is
a) 13
b) 65
c) 875
d) 1750

92) If two positive integers p and q can be
expressed as p = abZand q = a3h; a, b
being prime numbers, then LCM (p, q) is

a) ab

k) a2p2
c) 43p2
d) L3p3

93) Therelationship between mean, median
and mode for a moderately skewed
distribution is
a} Mode=median-2mcan
b) Mode=3median-2mean
¢) Mode=2median-3mean
d) Moede=median-mean

84)
Find the odd number from the
following series of heights of five
individuals {(in cm.) :

140.9,161.2, i53.9, 1590.9, 172.2
a) 140.9
by 153.9
c) 1590.9
d)172.2

95) B girls and 12 boys can finish workin 10
dayswhile 6 girls and 8 boys can finish it
in 14 days. Find the time taken (in hr) by
theonegirl alone and byoneboyaloncto
finish the work.

a) 120, 130
b) 140,280
c) 240,280
d) 100,120

96) The sumoftheprobability ofanevent
and non eventis :

a2
b} 1
c) O
d) None of these

97) Relative frequency =

a) Classfrequencydividedbytotal
frequency

b) Totalfrequencydivided by class
frequency

¢) Totalfrequency multiplied by class
frequency

d) Totalfrequency minusclass frequency

98) A girl caleulates that the probability of
herwinningthe firstprizein a lottery
is 8/100. If 6,000 ticketsare sold, how
many tickets has she bought?

a) 400
b) 750
c) 480
d)240

99) The letters of the word SOCIETY are
placed at random in a row. The
probability of getting a vowel is
a)1/7
b)2/7
c)3/7
d)4/7

100) Which one of the following
measurement does divide a setof
observations into two equal parts?

a) Quartiles

b) Standard Deviations
¢) Deciles

d) Median
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